PROFESSIONAL EXAMINATION BOARD

Group-3 Technical Selection Test 2016
6th April 2016, 02:00 AM

Topic:- G3_General Knowledge
1)

Question Stimulus :-
General Knowledge

Who is the present inister of External affairs of government of India?

/ HRd PR & fag=h Al & adwe @5 o4 &2
« Rajnath Singh / oY Rig
e Arun Jaitley / 30T Sicdt
e Venkaiah Naidu / 3%41 910g
e Sushma Swaraj / JUHT ¥R
Correct Answer :-Sushma Swaraj / JUHT RIS

2)
Question Stimulus :-
General Knowledge

Who is the captain of Pakistan cricket team in T20 world cup held in India

%p 2016? / 028 H HRd & 3mafora Ao fay &y & urfewar fbde 9 & FwE +149
?

« Mohammad Hafeez / HIgW<c gIftbul
Shoaib Malik / MTd Af®

Shahid Afridi / 2fgg AwIE:

Umar Akmal / 3HY dhHA

Correct Answer :-Shahid Afridi / gg MBIt

3)



Question Stimulus :-

General Knowledge

Saina Nehwal is a champion playerof ____ . / |TE Agara #t e Raard B
e Tennis / ef9
« Badminton / dsfiieq
e Squash / IR
e Cricket / fpde

Correct Answer :-Badminton / Sgfiicq

1)
Question Stimulus :-
General Knowledge

How many oceans are there on earth? / q?-?ﬁtl? faa IIENTIW%'?
e 7/
*6/%
«5/4
e 4 /%
Correct Answer :-5 / &
5)
Question Stimulus :-

General Knowledge

Which of the following instrument is used only for assessing heart related
problemS%'? / B Tl qHETSi BT e o & fore i # 9 fvwg o1 &1 v
o Sirar 82

« ECG / SIoht



e MRI / TH3R3ATS

« X Ra / T

e CT Scan / f4dt wA
Correct Answer :-ECG / g3iTeil

6)
Question Stimulus :-
General Knowledge

Which of the following is a renewable energy source? / Fufafaa & 3 o4
Tdioruita et |id 82

e Sunlight / G4 &T YHT=T
e Coal / CAL]
e Mineral / Qe
e Petroleum / ﬂ@ﬁl’qﬂ
Correct Answer :-Sunlight / Q{ifﬁm

7)
Question Stimulus :-
General Knowledge

Total strength of Lok Sabha is: / @&HTUT $t $A &HdT HT 8:
« 530 / 430
e 545 / K¥y
e 554 / 44y
e 564 / 4&Y¥

Correct Answer :-545 / k¥4



8)
Question Stimulus :-
Gemeral Knowledge

Which of the following film was shot in Madhya Pradesh? / fad 9 e
fioem &1 gféw aeg ue=r § @t Wt <A

Octopussy / 3faeIgRit

Jodha Akbar / SIYT 3[HaT

Rajput / IeIqd
Rajneeti / RG]

Correct Answer :-Rajneeti / ISHITd

9)
Question Stimulus :-

General Knowledge

Which of the following is launched on 10" March 2016 by ISRO? / fadsa
5 20 AT 2028 B ORI gRT W& forar war U2

e SLV3 / UHUHAN3
« INSAT / §9¢

e PSLV / Uluguaat
e GSLV / Sftuauadt

Correct Answer :-PSLV / digquad)

10)
Question Stimulus :-
General Knowledge

The Tansen tomb is situated at ./ AT BT AP ERT

# fRua 3|



Khandwa / Gsdl
Hoshangabad / gITATEIG
Gwalior / qIferaR

Fatehpur Sikri / BagqR R

Correct Answer :-Gwalior / WTferaR

11)
Question Stimulus :-
General Knowledge

The author of the renowned book 'Glimpses of World History' is: / URI&
fpare 'fay sfaer @ s (Femug e T )’ & aws §:

Dr. A.P.J. Abdul Kalam / SI. T. 4i. & 3fgd HaTH
Smt. PrathibaPatil / #iadl yfawur urfes

Jawaharlal Nehru / S[A8IdATd 489
S. Radhakrishnan / @Y. ITYTH W

Correct Answer :-Jawaharlal Nehru / SIdigedld ﬁ%??

12)
Question Stimulus :-
General Knowledge

Which famous leader was born at MHOW of Madhya Pradesh? / A U &
ug ¥ fpw uRrs Ad1 &1 o179 garm u1?

Indira Gandhi / SfezT i

Baba Saheb Ambedkar / 94T I8 3idSHI

Sarojini Naidu / SRIfSHT Aag

Bal Gangadhar Tilak / §Td TR faa®



Correct Answer :-Baba Saheb Ambedkar / d1dT dlgd 3aEHT

13)
Question Stimulus :-
General Knowledge

Which of the following districts of Madhya Pradesh have boundaries with

Rajasthan? / fHifed ¥ @ a5 wewr & =1 foral &t Jue 9™ & 91y IS 85 82
e Chhatarpur / 9d¥qR
e Damoh / E.'Tlﬂ?
e Satna / HdHl

e Guna / T[T
Correct Answer :-Guna / T[T
14)
Question Stimulus :-

General Knowledge

Which of the following districts of Madhya Pradesh has maximum forest

density? / fRufaf@a # @ v e &1 98 #1991 e g forger aifie a9 99w 82
e Dhar / YR
 Balaghat / dTdTdIC
e Guna / T[T
e Vidisha / fafgzm
Correct Answer :-Balaghat / dIdTdIC

15)
Question Stimulus :-
General Knowledge

Which is the largest tributary of the Ganges that does not arise from



Himalaya? / T &1 98 $I9 It a8 g3t Iu-d} & foraeT Igw ey 3 =g 82
e Son / q=
e Yamuna / 94T
e Tapti / arfay
e Betwa / Sadr
Correct Answer :-Son / |

Topic:- G3_General Hindi
1)

Question Stimulus :-
Hindi
e’ & wftr fasdg gm-

e Hal+4d

. Her+lq

. H3+d

« HAT+Tqd
Correct Answer :-9cl+U0d
2)
Question Stimulus :-
Hindi
T’ | i At 9f g

o faut dfa

o WY GfY



« T A BIS el
Correct Answer :-gdo |fY
3)

Question Stimulus :-
Hindi
"’ Xeg T faedi gim-

« g

Correct Answer :-ddd

4)

Question Stimulus :-

Hindi

T fore el ® 1 [ s 82

o WATHY
Correct Answer :-WdRYg
5)

Question Stimulus :-

Hindi



Correct Answer :-3Thi&l
6)
Question Stimulus :-
Hindi
3P ] & Y U g 1 T97 Hiforg-
& BT 7 ol b’
o MBI
o HYIN

o P

o ATHRPT
Correct Answer :-3®
7)
Question Stimulus :-
Hindi

Frafafed sl #§ 9 fUa s &1 999 Fifoe-



o 3T
Correct Answer :-Yuiil
8)
Question Stimulus :-
Hindi
TP Mg & oiF 3M@Tdf Treg &1 St Treg 39 A0 A =&Y 3n7aT §; 9€Y I<R gh Ml
ST

. fim

*

o FW[ S T

o fam o
Correct Answer :-31]
9)
Question Stimulus :-
Hindi
"R’ e H SUTT gITI-

e 3

Correct Answer :-3ifd

10)

Question Stimulus :-



Hindi
‘BRI’ Veg T I T T4T 82

& ¥4 4

Correct Answer :-UR1
11)
Question Stimulus :-
Hindi
Fasaa’ § GAT F1T-
- ggsiife
o dgey
« HHYRY
- T8
Correct Answer :-HHYURY
12)
Question Stimulus :-
Hindi
e faam geraw &1 3 ghm-
o HIS HAT

o Fgd T T
o Y TSI



Correct Answer :-aﬂéa@?ﬂ@:«_ﬂm
13)
Question Stimulus :-
Hindi
Frafafag ¥ s 9 &1 999 Fifee-

e hd UIS Ugh 3HIgU |

e UIé UgdhY v 3ISUY

* UIS UgdX 3T P

* JIY P YIS UghR
Correct Answer :-Uld Ugh hdl 3AIgT

14)

Question Stimulus :-

Hindi

feeeft-iRe & omH-ur S 4t Fielt aielt ot 31

TSI
-
st qedt

o 3atht

Correct Answer :-@?ﬁ CIG|

15)
Question Stimulus :-

Hindi



‘IHA BT 4T’ & TP 8-
81, g
BRI U 41G
gRRIBT URATS
U AT

Correct Answer :-d%U T{I'H'f‘ﬂﬁ'ﬁ’

Topic:- G3_General English
1)

Question Stimulus :-
English
Find the odd word out:
Fast, quick, slow, rapid
e Fast
e Quick
e Slow
 Rapid
Correct Answer :-Slow
2)
Question Stimulus :-
English
Find the odd word out:
Ache, comfort, pain, agony

e Ache

e Comfort



 Pain

e Agony
Correct Answer :-Comfort
3)
Question Stimulus :-
English
Fill in the blank:

You go to the doctor if you are not feeling well.

e should
e can
e may
e might
Correct Answer :-should
4)
Question Stimulus :-
English
The following sentence is split in three parts and each one is labelled (A),

(B), and (C). Read the sentence to find out whether there is an error in
any part. Letter (D) signifies a ‘No error’.

I (A) have been (B) to Paris in 2012 (C).
e A)I
e B) have been
e C) to Parisin 2012
e D) No error

Correct Answer :-B) have been



5)

Question Stimulus :-

English

Which of the below given words is spelt correctly?
e Opponennt
e Oponent
e Opponent
e Oponnent

Correct Answer :-Opponent

6)

Question Stimulus :-

English

Which of the below given words is spelt correctly?
 Possessive
 Posesive

e Possesive

 Posessive
Correct Answer :-Possessive
7)
Question Stimulus :-
English
Complete the idiom:

My efforts went to waste. I now have to start from the
again.

e square one




e scratch
e task
e first
Correct Answer :-scratch
8)
Question Stimulus :-
English
Identify the given sentence:

Don’t do that.
e Interrogative
e Exclamatory
 Declarative
e Imperative
Correct Answer :-Imperative
9)
Question Stimulus :-
English
Identify the given sentence.

Did he go to the dentist yesterday?

Interrogative

Declarative

Imperative

Exclamatory

Correct Answer :-Interrogative



10)

Question Stimulus :-
English

Find the odd word out:

Onion, pineapple, turnip, celery

e Onion

Pineapple

Turnip

Celery

Correct Answer :-Pineapple
11)

Question Stimulus :-
English

Fill in the blank:

She the room when the bell rang.

e was cleaning
* is cleaning
e cleaned
e cleans
Correct Answer :-was cleaning
12)
Question Stimulus :-
English

The following sentence is split in three parts and each one is labelled (A),
(B), and (C). Read the sentence to find out whether there is an error in



any part. Letter (D) signifies a ‘No error’.

I would (A) never do this (B) if I were you (C).
e A) I would
e B) never do this
e C)if I were you
e D) No error
Correct Answer :-D) No error
13)
Question Stimulus :-
English
What is the synonym of: astonish
e Threaten
e Warn
e Amaze
e Caution
Correct Answer :-Amaze
14)
Question Stimulus :-
English
What is the antonym of: brave

Heroic

Courageous

Bold

Afraid



Correct Answer :-Afraid

Topic:- G3_General Maths
1)

Question Stimulus :-
Maths

Sum of money is compounded annually at r%. Compound interest on it
was Rs. 4500 and Rs. 4770 in two consecutive years. What is the value of

r? / Sag IR F i @R SR (r) % T TG gidT 8| TFaR & 9Td & e g9 i
BT Ahgfe TS ¥yoo 3R Yoo 7, df r(3MR) BT URHTUT FaT BRT?
e 5,5/ 4.4
*6/%
e 6.5/ &.4
e 7/
Correct Answer :-6 / &
2)
Question Stimulus :-

Maths
Given x3 + y2 + 3xy = 125 and 27x2y + 27x3 + 9xy2 + y3 = 0, what is the
value of (x + y)? / RUTT x? + y? + 3xy = R4 3R 0%y + 0x? + Wy + y? =
o %, (x + y) ®T 4 1 82

e 5/4

e -5 /-4

e 10 / %0

e —10 / =20

Correct Answer :-— 10 / -?0

3)



Question Stimulus :-
Maths

What number must be added to each of the numpers 56, 49, 2, 1 so that
the results are in continued proportion? / TP TAWTSAT UE,¥Q,3,2, & I fFa
BT Dt Sitel drfe gfivonmy AR 3rurd | g1 3me?

*5/4

e 4 /%

e 7/

e 8/¢
Correct Answer :-7 / 9
4)
Question Stimulus :-

Maths

What is the sum of deviations of humbers 2, 3, 4, 5, 7, 9 taken from their
arlthme%tlc mean? / amﬁmumwﬁmwmaﬁ R,3,%,4,9,% & faga=l &1
IRT T 82

*1/%

e -1/ -

* 2 /R

e 0
Correct Answer :-0
5)
Question Stimulus :-

Maths

A number is chosen at random from 1, 2, 3, ...., 48, 49, 50. Wha.t is the
probability that it is a prime number? / ,3,3,...., ¥¢,¥%, 40 ¥ TP HBT Bl
Sfrafid U A 471 S1d1 2 1) SHP U BT g4 @i fPda-l IriTa-T 82



0.35 / 0.34

0.15 / 0.24

0.30 / o.30

0.16 / 0.%&

Correct Answer :-0.30 / o.30
6)

Question Stimulus :-

Maths

In triangle ABC, each of the base angles is 450. Measure of the base is 20
cm. What is the area of the triangle ABC? / AYsi(TIRi)ABC ¥, Ud® SMUR &1
BT ¥yo § | TYR HT AT 0 JH g | FAYS(TIRIT)ABC o7 &% w1 82

200 cm? / Y00 IHR

100 cm?2 / 200 IHR

400 cm? / Yoo THR

360 cm? / 350 JHNR
Correct Answer :-100 cm?2 / 200 R

7)
Question Stimulus :-
Maths

The perimeters of two similar triangles ABC and PQR are 240 cm and 180
cm respectively. If one side of the first triangle ABC is 80 cm, what is the
corresponding side of the other triangle? / &f A AYs TERI(ABC) 3R
FegR(PQR) Pt TR HHTM: 3¥o A 3R 3¢o A T[Tt vgat AYS TaRA(ABC) &1
TS U& ¢o AT §,dl ga¥ AYS &1 IIa Yo 1 82

e 72 cm / 9 IHl



e 66 cm / §&& 9U

e 60 cm / §o OH}

« 75 cm / o4 9
Correct Answer :-60 cm / §o |Ht
8)
Question Stimulus :-

Maths
The average age of 30 girls in a class is equal to 14 yrs. When the age of
the class teacher is also included, the average a je becomes 15 yrs. Find
the age of the class teacher. / T® T P 30 ?IG‘%Q% 3N IY Q¥ ATA & IR
2199 I Tt R1ere 1 39 B WY nfere fear Srar 8, o iud 39 ¢4 91e 8 st at
i 1&g/ & IY HT a1 T

e 35 years / 34\ 9Td

e 40 years / ¥o dld

e 52 years / &R 9Id

e 45 years / ¥\ HId
Correct Answer :-45 years / ¥4 dld
9)
Question Stimulus :-

Maths

If sinA + cosecA = 2, find the value of sin’1A + cosecl’A. / afe sin A +
cosec A = R &,d sin”1A + cosecl’A &1 AH fA®Td|

e 0
*2/R
e -1/



e -2/
Correct Answer :-2 /R
10)
Question Stimulus :-

Maths

X is the smallest four digit number such that when divided by 3, 4, 5, 6, 7,
8, 9 leaves remainder 2 in each case. Y is five times X. Find Y. / IR 3| B
a9 DIt W1 TRI(X) 8 99 I 3,%,4,5,9,¢,R, 3 fAufera forar sirar 8 o) ude fRufa #
AY R 8 g9l ¢ aE(y), TH( x) & uiE o B @ arg(y) |

e 75600 / WV4goo
e 12610 / 2R&20
e 38170 / 3¢(RVvo
e 62510 / &40
Correct Answer :-12610 / R&20

11)
Question Stimulus :-

Maths

What is the ratio of product and sum of roots of the equation: 2x3 - 2x2 +
5X — 16 = 0? / GHIHIUT Ix3 - Ix2 + Yx - 2§ =0 BT YUHGH BT AJUTd 3R
THIHI0T & Jal T aAThd Hdpra?

e 4:1 / ¥:2

o 2:1 /2

e 3:1/ 3:%

e 8:1/ ¢:R

Correct Answer :-8 : 1 / ¢:?



12)
Question Stimulus :-
Maths

Price of a premium quality Tea is Rs.240 per kg. It increases by 25%. By
how much percent the consumption should be reduced so as to keep the

expenditure same as before? / gy HIferd] aru=ll &1 Iea ¥o Fud ufd foam
2| U8 25% del f3ur Srdr g 1Y Ugd & o0 & U A 3@ & fore fpaq ufawra @ua &H
! A1ee?

e 18.75% / 2¢.9k%

e 20% / 9%

e 21.22% / %%

o 25% / 4%
Correct Answer :-20% / 0%

13)
Question Stimulus :-
Maths

Find | x|, if for an unit vector a; its known that (x - a) . (x + a) = 48. / gfe

TS 3T 99X Y(a) S U ; 91 8 & (x - a) . (X + a) =¥¢ ¢ diga( x) P
e 7/
e 8/ ¢
e V48 / V¥¢
e 3V3/3V3

Correct Answer :-7 / ©
14)

Question Stimulus :-

Maths



Y = 4X3 - 6X2 + 15X - 19 and Z = 3X2 + 5X - 9. Find the value of (dY/dX)
(dZ/dX) when x = 1. / ATS( Y) = ¥X? — &) + 24X - R R WS(2) = 3IX + 4X
— Q B9 T (x) =2, (dY/dX)(dz/dX) &1 °F fAad|

¢ 150 / 3o

* 165 /&4
e 175 / 04

* 195 /R4

Correct Answer :-165 / &4
Topic:- G3_General Reasoning
1)

Question Stimulus :-

Reasoning

Sachin started driving a car in the North direction. After travelling for 10
km he turns to his right and drives for 5 km then again turns to his right
travels for 4 km and then stops. When he resumes driving he travels 1 km
and then takes a right turn and travels for 10 km after this he again turns
right and drives for 5 km and stops. How far and in which direction is he
from his starting point? / GfRF 3 & SR &I IR M A Ta 1 Y= fan| g0 faodt
aa%a?umagamﬁarﬁaﬁvgm%aﬁ?ﬁw y fedt Terar 7 ok fihY 3= it oiR
s ®X 98 ¥ fooHl arm a1 8 ik fihe 3 W11 81 99 98 fih 1R a1 YRY &4l §
9% ¢ fft Taar 8 iR arfl 8k g &% 20 &t Taar 8, 39U 91 98 e arff ek g3
?%k%lﬂm%aﬁvﬁwwm%l 9% A URMA® g | fa- gv ok fvy fa=m
?

e 10 km East / zowqﬁ
« 5 km North / 4 f&#t W
« 10 km South / 20 ot gféror
e 5 km West / 4 f&dt ufgm
Correct Answer :-5 km West / 4 f&t uf3m

2)



Question Stimulus :-
Reasoning

If North-West becomes South and North-East becomes West. Similarly all
other directions are also changed, in which real direction will be South-

East? / fd STR-ufyw &faror g ok SwR-gd ufyH §) oY ik 3t yovr & sfiv aoft
fe=mmg <ff uftafda @t =g, o fw arafd® fomm # <féor-gd e

North / 3™
West / Uf3

South-East / E'fEI'UT-quc
North-West / ITR-Uf3H

Correct Answer :-West / Uf3#H
3)
Question Stimulus :-

Reasoning

Following are the statements nhumbered 1 and 2 which are followed by a
set of conclusions labelled I and II. Which of these conclusions are most
obvious in relation to the statements given below? / fFgfafad syt & 2 3R
R Tamait A Rifea frar a1 8 ik 399 9wiftE 1 3R 11 fafRd fad e SuweRl &
9=y 3 T 2 fu T Hyi & Hed # 39 & SUNER Wed U 72

Statements: / BY:

1. Some blades are razors. / Wﬁ%’iﬁ'\:%l
2. All razors are axes. / G4t ¥oR WT%‘QT gl

Conclusion: / SUUER:
I. Some axes are blades. / $O PealiSdl &S 2
II. Some blades are axes. / $O &S Peolisdl ol

e OnlyI/ &ad@ 1l
e Only II / 99 II
e Both I and II / G I 3R II



e NeitherInorII /AIdI9IId

Correct Answer :-Both I and II / @l I 3R II

4)
Question Stimulus :-
Reasoning

A clock which is set right at 3:00 am gains 20 mins in 24 hours. What will
be the correct time when the clock shows 3:00 pm on the fourth day? / T&

3! o fF 1P 3:00 T Yag W Ae ! TR 8 98 ¥ Te H Yo fATe Mt a1g wrdt 81 URY
& f&T & MY 7T 99 ST 3:00 FO AW T IHY WY dF IT 9T T 09T T §RM?
e 4:00 pm / ¥:o0 I U
e 3:00 am / 3 ¥ ga§
¢« 1:30 pm / 2:30 ¥ HHTF
e 3:30 pm / 3:30 Il HHTG
Correct Answer :-1:30 pm / 2:30 o Y8
5)
Question Stimulus :-
Reasoning
If among a group of four friends, / 9f¢ IR = & t® 94g ¥,

i. D is taller than A / D, A'@WE’[
ii. Bis shorterthanAandC /B, A 3R C q Sier gl
iii. C is taller than A but shorter than D / C, A ¥ %I IR+g D ¥ BT &1

Then, who is the tallest? / d 9 a0 JaQ THT B 82
e D
e C

e A



e B
Correct Answer :-D
6)
Question Stimulus :-
Reasoning

If oranges are pink, strawberries are blue, blueberries are white, grapes
are brown and mango is black then, what colour is orange juice? /

TTare g, T el g, sgast Athg 8, SRR YR & oY Wk & S BT [ AT g2
e Blue / &
e Black / Tdl
e Brown / I
e Pink / TaTdt
Correct Answer :-Pink / T[@Tdt

7)
Question Stimulus :-

Reasoning

If 15t November 2016 is Tuesday then what day was 15t March 20162 / afe
{ AATER 02§ DI HIAAR YT df { I 02§ Y BI AT f7 ur?

e Tuesday / HIddR
e Monday / AR
e Wednesday / qUYdRR
e Friday / YPaR
Correct Answer :-Tuesday / HIddR

8)

Question Stimulus :-



Reasoning

Observe the figure below. How many dots lie opposite to the side of. three
dots when the paper is folded to form a cube? / = ﬁ'l'{ Mg g o ¢ w9 f&
9 BN B HISHR SHBT TP °- 91T WY ot a1 fagsit 31 feznm & faudia foam fag
gSi?

8

By

kA
2/
173
6/%
. 5/%

Correct Answer :-2 /R

9)
Question Stimulus :-
Reasoning

In a certain code, RAT=39 and HORSE=65, what will be TIGER? / Wﬁ'&' A
RAT=39 3k HORSE=65, d TIGER &I gITM?

e 75 / Yy
e 86 / (&
* 66 / &%
e 50/ 40

Correct Answer :-66 / &%



10)
Question Stimulus :-
Reasoning

In the given number series find out how many numbers are there which
are divisible by 4, then immediately followed by an even humber and then
a prime number. / T® ¢ T @1 §@ar § I GSATSM B HWAT J1d B« ol fb ¥
gRT AT 81 =it fihe af¥d U T U 90 BT 3R ITS gid q1¢ TP 3{HTT ST
erT faurfora g2

2,4,6,7,8,9,12, 14, 11, 15, 16, 18, 19, 24, 23,22 /3, %, & Y, ¢, {, 2R, 2%,
% W, 2§, 2, 2R, R, %, N

+3/3
*5/4
+6/%
¢+ 1/3
Correct Answer :-3 / 3

11)
Question Stimulus :-
Reasoning

In the given alphabet series, find out what will come next. / Frafaftaa
JUIATAT B 4T # 3 Ul BT UdT B ol St HH | SFTAT SR

ZI xl UI QI ?

Correct Answer :-L

12)



Question Stimulus :-
Reasoning

Introducing a boy Rajiv said, "His mother is the wife of my father’s only
son.” How is Rajiv related to the boy? / T&% ds® $T UR<Y qd §Y WSl 7 P,
“ga@! 1 WX fUaT & sHeid 3 9t el 82

e Brother / 'l-ITs‘

o Father / fOar

« Cousin / TERI ‘l-l'l'é

e Uncle / dMIT
Correct Answer :-Father / fudl
13)
Question Stimulus :-

Reasoning

How many N’s are there in the given series which are followed by 3
gonsecutive M’s? / <t Tt Fufafed gaar § fa N & e a1g amar &1 M sma
?

N,M,M,M,N,M,M,N,M,N,M,M,M,N,M,N,M,M,N,M,M,N,M,M, M.
e 3/3
e 8/ ¢
e 9 /%
*6/%
Correct Answer :-3 / 3

14)
Question Stimulus :-

Reasoning

If, / 4,



I. A~B means A is father of B. / A~nB ®T 3 g f5 A, B &1 fUar @
II. AAB means A is brother of B. / AAB T34 8 5 A, B T TS 8
III. A*B means A is daughter of B. / A*B &I 3{?1%% A, B H’ﬂgiﬁ%

IV. A+B means A is mother of B. / A+B &1 Gr?-f%ﬁ?A, B &t 0%

Which of the following means that R is niece of P? / Fufafea A S =
fapwu gg 3 ¢a1 & fF R, P F1 Hdlsh 82

° R*QI\P

e R*P

Q~R+P
e PAR*Q
Correct Answer :-R*Q/P

Topic:- G3_General Science
1)

Question Stimulus :-
General Science

Single Cotyledon of Jowar is called: / SdIR &I Thd dIo9F Hedrd %:

« Coleorhiza / ®ifraifSs

e Scutellum / ?ﬁﬂ'ﬁ
e Husk / qU (f&a®r)

« Coleoptile / Siferapsd

Correct Answer :-Scutellum / ¥pcad
2)

Question Stimulus :-

General Science

The metal disc provided at one end of the common cell is the: / dTYURU qd
& TH BR W fear mar urg afper §:



negative terminal / BUTHDP BR

switch / ge (fFaw)
positive terminal / YATHD BR
Spring / &AL (fBM)

Correct Answer :-negative terminal / BUTHD BR

3)
Question Stimulus :-
General Science

On the surface of the liquid in equilibrium, molecules of the liquid possess:
/ AraT § YT TR & Y¥ (9a8) W, IRA & 3] YR Hd &

e Maximum Potential energy / Sftrmaw fRufas et
e Minimum Potential energy / W@Iﬁlﬁ&_\rﬁ
e Maximum Kinetic energy / Sfrmaw Tfast Sl
« Minimum Kinetic energy / <JAdH Tfasl el
Correct Answer :-Maximum Potential energy / Sftrean fRufas ot

4)
Question Stimulus :-

General Science

Toroid is: / TRISS &:
 Ring shaped closed solenoid / TAITHR 5 URATADT (ATAHddA)

« Rectangular shaped solenoid / MAATSHR TRATIDT (ATeIpdd)
« Ring shaped open solenoid / TaITHR o URATADT (ATAPdad)
 Square shaped open solenoid / TSR Y&l URATADT (ATAHAA)



Correct Answer :-Ring shaped closed solenoid / TAATHR T5 URATADT
(AT de)

5)

Question Stimulus :-

General Science

If a Magnet is cut into four equal parts such that the length and breadth of
each smaller magnet is equal, then the pole strength of each small part

shall be: /ﬂﬁwwaﬁwwwﬁﬁwwmmﬁwﬁﬁm(w)
4a% BT ¢8l (Ta13) Td U (TNSTS) TH UM &1, a9l AP &% YN St Ydig &mar gift:

em/ m
e m/2/ m/R
e m/4/ m/¥
e m/8/ m/¢(
Correct Answer :-m/2 / m/\R

6)
Question Stimulus :-
General Science

The existence of electromagnetlc waves was experimentally confirmed by:

/ §1 & gRT UIA® &u 4 fagaa-gasia av &1 sifeda giifda favar war
Maxwell / #59dd

Tesla / ¢l

Faraday/%@"r

Hertz / Bﬁf

Correct Answer :-Hertz / 'e!Trf

7)

Question Stimulus :-



General Science

A transformer works on: / T& URdq® (giwru»-‘fﬂv) AW P BT B
e Very Low Voltage only / dad 3ffd g dieew
e Very High Voltage Only / &9d 3ffd I dieew
« AC Only / &ad Tl
e DC Only / &ad SHHl
Correct Answer :-AC Only / %ad Gt

8)
Question Stimulus :-
General Science

The strongest acid is: / Jalfy® AR 3T 8:

« Trichloroacetic Acid / TIRGARIVATRRS

« Monochloroacetic Acid / AIFIgRICARS 3
e Acetic Acid / YT (TAfed 3rT)

« Dichloroacetic Acid / S3aaRIVAfRRS 3T

Correct Answer :-Trichloroacetic Acid / CIRTARITHCD 3Fd

9)
Question Stimulus :-
General Science

Maximum energy is generated on combustion of which of the following

gas? / Fufaf@a # @ 19 9 19 ¥ g9 R iftpan ot Iz gl 82
e Propane / UILE]
e Methane / e



e Butane / sgcA

e Ethane / %2-]7[
Correct Answer :-Butane / 63%7{
10)
Question Stimulus :-

General Science

The study of energy transfer and relationships between all living
organisms is known as: / 9HX Sifaa wrforat (Gﬂﬁ) & A SHoll gedidul T4 9aY

1 YT Byl g
e Thermodynamics / AN IDIG G (Wﬁmﬁﬁlﬁ)
 Potential Energy / fRufas St
 Kinetic Energy / Tfast Sl
 Bioenergetics / aamﬂailﬂ
Correct Answer :-Thermodynamics / SHRIfd®! (SHUA®HT)

11)
Question Stimulus :-
General Science

The cycle that generates energy and splits water into hydrogen and .
oxygen is known as: / Sl TP Hell SUA Bl ¢ U4 oid Bl gIggIe Ud TRite o
faurfra 2 a1 8 39 Fed &

e Electron Transport Cycle / 3ddeid URds I%
e Citric Acid Cycle / HTsfe® 3d T

e Photophosphorylation / BIc P RB IR

« Glycolysis / TSIy

Correct Answer :-Photophosphorylation / BB Ih IR AR



12)
Question Stimulus :-
General Science

The gas which turns fat and oil containing foods in rancid is: / o T 991 T4
da-gaa HivH &) arft (gify gaa) 991 341 2 98 &

e Hydrogen / B'I's'@“ﬁ
« Oxygen / 3Tade

 Nitrogen / H‘@\‘rﬁ

e Carbon dioxide / aﬂihsvsaﬁwm
Correct Answer :-Oxygen / STRTTe
13)
Question Stimulus :-

General Science

Which of the following determines the colour of the skin in human beings?

/ Frafafea & &« B @ &1 91 fufa s 82
e Paraffin / W%
e« Melanin / 361& (AA1)
e Durum / g3H
e Myoglobin / L EITE
Correct Answer :-Melanin / ¥5& (A1)

14)
Question Stimulus :-

General Science

Milk of magnesia is: / AN efiv (ﬁwaﬁm) 8:



antacid / SI&IAIRIP
bleaching power / faiei® guf (&R T€eR)

artificial milk / $39 gy
NacCl

Correct Answer :-antacid / ®IHIRI®

Topic:- G3_General Computer Knowledge
1)

Question Stimulus :-
Computer

Which among the following from the below given options is an output

device? / fFafafad sien-ucd fapwul & A H19 A1 v FrfH o 82
e Scanner / PHAIYD

e Printer / g&

e Mouse / HI3YH

e All of the above / IWRIiad g
Correct Answer :-Printer / &
2)
Question Stimulus :-

Computer

Which among the foIIowin%short keys are us.ed to move fqrward by using
the TAB key? / fFufaf@d & ¥ #19 ¥ gy Hiomal &1 ITART 9 Foil & Ferdr
SRR g1 & fore fan wiran 82

e Alt+Tab

o Shift+ctri+Alt

o Ctri+tab



e Alt+ctri+del
Correct Answer :-Ctrl+tab
3)

Question Stimulus :-

Computer

An Operating system is . / U YETad 99 8

e an application software / T®h WW

 a system software / T UGT d-i%l

« a personal software / U&% HfGRTd ai%

e None of the above / :mﬁaaﬁﬁﬁs‘qﬁ
Correct Answer :-a system software / Tdh UIEGEIGEC IR

4)
Question Stimulus :-
Computer

What is the base value of the hexa decimal numbers? / TSy MY T=3i
BT MYRY AT FIT 82

* 16 /%%
e 8/¢
¢ 17 / %9
*2/R
Correct Answer :-16 / &

5)
Question Stimulus :-

Computer



Firewalls are: / 3R (WHRdId) 8
« Those that filter networks / a Sl TSIl MY HId &
* Follows set of the rules / oei & TPh =Yg T UTdd HId %
« Hardware or software device / T AYAT T T (IUT)
« All of the above / IURIad I

Correct Answer :-All of the above / IURIaT 9

6)
Question Stimulus :-
Computer
What is the full form of FTP? / TWdIUl (FTP) &1 fawgd 0 &1 82
e File transfer protocol / fiRId SAMIARUI FHMER (WIS TABR
FIEEI))
e File transmission protocol / fAR& TR HFHRR (WBTsd giafa=E
BIEEI)
e File trimming protocol / R f5?l'§ ShHAR (PIgdl ﬁ'&l’ﬂ Eﬁﬂﬁﬁ)
« All of the above / SWRIad Tt

Correct Answer :-File transfer protocol / fifRId MR FHRR (W15 iAW
melpid)

7)

Question Stimulus :-

Computer

Pentiu%n is related to which of the following? / tfeaq fAufafaa # 9 fPa @
e g2

 Hard disk / 3F® TftheT (BT f&TF)
e Microprocessor / J&H-UhHD (Hﬁﬁﬁtﬁ@ﬂ?)



« Mother board / & Ued (Hex d1s)

e Chip set / tl7 99z (fau de)
Correct Answer :-Microprocessor / J&H-UhHD (HTSHIVIEIR)
8)
Question Stimulus :-

Computer

LAN means: / TdQEA (a?) &1 S %:
e Local area network / ®ITHT &7 dxelrd
« Wide area network / faxqa &7 de@
e Both of the above / IWRIF IHY
e None of the above / mﬂﬁﬁﬁaﬁ'{qﬁ

Correct Answer :-Local area network / YT &h GESIG]

9)
Question Stimulus :-
Computer

Which of the following is the correct format of an email address? /

fufafea & & o9 a1 3 ud BT T A6 IR §2
e sales@gmail.com
 sales@@gmail.com
e @sales gmail.com
e gmail@sales .com

Correct Answer :-sales@gmail.com

10)

Question Stimulus :-



Computer

Which of the following is an example of binary codes? / Fafifad 4 @ o=
fe=R Pl &1 TP IR B2

e A0O0101 / AooR0o?

e 00101 / oo%0?

e 02456 / o¥K&

e A011800 / Ao?%c¢oo
Correct Answer :-00101 / oo%0?

11)
Question Stimulus :-

Computer

Digital computer was developed in: / 3P P! 1 AP EIE\T'ﬁ"CIT T YT:
e India / HRd
e China / 94
e USA / gudT
e Japan / SO
Correct Answer :-USA / QU3¢

12)
Question Stimulus :-
Computer

Daisy wheel printer is what type of a printer? / TASgR b G5P (ot }la
filex) f5d voR &1 g5& &2

« Non impact / 3Tgrdsi<
e Impact / STHId



e Laser / @R

e Line printer / tfea Hadh (g fﬁ?\f)
Correct Answer :-Impact / 3Tdrd
13)
Question Stimulus :-

Computer

Which of the following is a math library function? / Frafafea & 3« Th

TG HHISRI-TUE (ATSaRT) UPTd 82
Math.h

int.h

Stdio.h

String.h

Correct Answer :-Math.h
14)

Question Stimulus :-

Computer

Valid character constants are: / HI 3{&R 3R %:
e "\n’
e "\
e Both of the above / SWRIFd IHT
e None of the above / mrﬁaaﬁﬁﬁiqﬁ

Correct Answer :-Both of the above / SWRITd IHT

Topic:- G3_Electrical
1)

Question Stimulus :-



Electrical

With the decreasing speed of the motor, what happens to the required
capacitive kVAr? / Hic & ®i8 H g1 & 914, T %ﬁﬁrﬁa kVAr § &1 §ld1 82

e Increases/dadl %
e Increases then decreases/ dadl % o5z gedr %

« Remains constant/ RRR IgdT &
« None of these /39H ¥ ®Ig a8l

Correct Answer :-Increases/dadl %

2)
Question Stimulus :-
Electrical

The total number of lines of force emanating from certain charge is called

as? / i3 oot @ Fpa ard 90 o1 Y@13i $ T I B FT AT 8
« Electric Intensity / fagad sivRar
« Electric field strength / fagaa &= &1 =faa
« Electric lines of forces / 9 @1 fagaa v&rn
« Electric Flux / fagaa we
Correct Answer :-Electric Flux / fagaa wed
3)
Question Stimulus :-

Electrical

The time taken by an alternating voltage or current to complete one cycle
is ca%led as: / TS YT Hee GRT TP Th PRI HI1 A T el 0T DI Hal
EIGI

 Periodic time / WiRGifs® g



 Angular Velocity / TR dalfidt

e Amplitude / Q'Fl?ﬂa{é
e Frequency / Wit
Correct Answer :-Periodic time / d’lﬁm"mm
4)
Question Stimulus :-
Electrical

Which type of power in ac circuit is measured in volt-ampere (VA)? / Q‘@I’f

gfbe & fg avg & UTaR &1 diee-Trfiar (VA) ® HIUT SITdT 872
e Apparent power / Q'ai'c' PIEES
e Active power / Q‘ﬁﬁqﬁ?
« Reactive power / ¥ufdea urax
e Power factor / Uld? PHaeT
Correct Answer :-Apparent power / Q'a?ﬁ:’ LICES
5)
Question Stimulus :-

Electrical

Find the voltage drop due to transformer resistance of a 4 phase electric
arc furnace if the current drawn is 5000 A and reactance of transformer to
secondary is 0.0035Q and resistance of transformer to secondary is

0.0055Q. / afe forar 1 5000 A e 1 3R et THBIR FT kU 0.0035Q
Bl TUT AP S CABIHR HT ¥ T 0.0055L &l <f fHdl 4 B arell sATIAS 3D
B & CABIHR YoReT & BRI g aTd dieed $IT D 10 B

e 27.5V

e 285V

e 295V



e 305V
Correct Answer :-27.5V
6)
Question Stimulus :-

Electrical

Why is a starter is necessary to start a dc motor? / f&<dt DC Hiex &t iﬂ?jﬂv_vﬁ
& forT Uo HieY FI oR=d I gl 82

« it starts the motor / 98 HicX & AT HIdT &

« Limitation in the speed of the motor / HAic &I T # HHE

« Limitation in the back e.m.f. to a safe value / 9% SUAUG &I A®
dwg ¥ e

e it limits the starting current to a safe value / dg WIfET BIC Bl
P 4oy P Giid Hdl §

Correct Answer :-it limits the starting current to a safe value / dg TrféT

BT B! QG I do Hfed dar @

7)
Question Stimulus :-
Electrical

What is defined as the product of the voltage and current with conjugate?

/ FAIE & 1Y diees 3R B & Uisae & ¥U H [t ufvutiva fear sirar 82
e Complex power /H?Flﬁﬂ'\q qldr
« Power transfer / UTaR giABR
e Power consumption /UTdR HolH=H

e Power balance / UTaR 9dd

Correct Answer :-Complex power /&P TG



8)
Question Stimulus :-

Electrical

Which equation defines bandwidth of resonant circuit? / PI-9T HiH0r

YeiFe |fdbe & defagy ot auifia $war g2
o 2ZufiL/R
o R/2mL
. o I2ny2¢
. VIRyZ
R/f2mL

Correct Answer :-

9)
Question Stimulus :-
Electrical

Which method of determination of voltage regulation gives more accurate
results because it is based on the separation of armature leakage

reactance effect? / diesl WARM & fEeffAvM &1 #19 a1 Aus it adle uiom
¢a1 € FifP a8 =R fiPpw & RuadT YHG & 3renT 311 WR nyTid giar 82

e Ampere Turns Method / Q'FEﬂWET\‘-'fﬁ?-IE
e Synchronous Impedance Method / Riwa stdﬁ"\qﬁus
« MMF Method / THTHUG AYS
« Potier Method / TIfeTR AYS
Correct Answer :-Potier Method / UifeaR AYs

10)
Question Stimulus :-

Electrical



In hydro power station which components is used to step up the .
generating voltage to a suitable transmission voltage? / 31333[ GRS ﬁ,
U AP STHMARM dleesl g A-ReT dleesl &l g # fPaer swura fdar srar 82

e Transformer / SRAGIUR
e Genrator / S-INeY

e Transmission line /AR @54
e Turbine / T:.’Eﬁ's'-'-r

Correct Answer :-Transformer / TiOBIHT

11)
Question Stimulus :-
Electrical

How much is the torque developed if a 400 V DC shunt motor gave the
following readings during brake test: / 8% 3% & gRTH, 400 V DC Xic Hlex A
gfe fAafefad S fear af feaan b a1 8:

Length of brake arm = 200cm / §& 3TH @& TEI§ = 200cm

Reading of spring balance at the end of brake arm = 40 kg-wt / 3% ATH &
3ifaw Bk W AT 69 $1 {fET = 40 kg-wt

Supply voltage = 400V / W?ITQH’I@W =400V
e 784.6 N-m
e 784.7 N-m
e 784.8 N-m
e 784.9 N-m
Correct Answer :-784.8 N-m

12)
Question Stimulus :-

Electrical



Which of the following provide deflecting force for voltmeters only? /

frafafEa & ¥ $19 daa dleetied ¥ T fwa 90 ye™ $ear 82
e Electromagnetic effect / Eﬁﬂ@ﬁﬂﬁ UHId
e Electrodynamic effect / A SRS YU

« Magentic effect / Bife® UvE

« Electrostatic effect / SATERSCPH UG

Correct Answer :-Electrostatic effect / sﬁﬂ@'@ﬁﬁ UHIq

13)
Question Stimulus :-
Electrical

Find the total emf generated in a shunt generator which delivers 200A at
terminal voltage of 230 V, the armature resistance and shunt field
resistance are 0.08Q and 50Q respectively. / fHft i IR | Pd ﬁ'Q‘H‘Q‘CF ATd
X |l 230 V & cfHTd dices TR 200A ST 7, THIR IORET 31X 2je Wics IoreH

HU: 0.08Q 3R 50Q 7
e 246.4V
e 240.6 V
e 2504V
e 260.6 V
Correct Answer :-246.4V
14)
Question Stimulus :-

Electrical

Which factor is a ratio of the sum of the individual maximum demands of
the various subsystems of a system to the maximum demand of the whole

system? / PH-IT1 haex fHdt Ren & fafia gafinew & safsfagsre AfRmwm
fSuis & 91 3R ¥ Rew & AfRquw fSuis &1 srquTa giar 82



Capacity factor / $URIE haer
Diversity factor / SIIARIc haex
Demand factorn / f&Hig baex
Load factor / @IS Haex

Correct Answer :-Diversity factor / SHafRid haex

15)
Question Stimulus :-
Electrical

What is the unit of flux density? / W SRR B gH1S FT 82

e Weber / dR

e Ampere / QTEﬂTI'\'
e Tesla / ol

e Hertz / BTrf
Correct Answer :-Tesla / GRSl
16)
Question Stimulus :-

Electrical

In which type of compound generator the terminal voltage rises with
application of load so that its full load voltage exceeds its no load voltage:

/ P9 T8 & FHES S ReY §, TS & SHHIA & PRU SfHAA diees ggdl g dife
IIPT Td A1S dieesl Al A1 diees § §¢ W4:

 Flat Compound Generator / TRIc HHTSE HAvex
« Under Compound Generator / 383 $HIGS S

 Series Compound Generator / IR FHES WHve



e Over Compound Generator / 3aY FHES S vex
Correct Answer :-Over Compound Generator / 3R FHTSS SR

17)
Question Stimulus :-
Electrical

In electrical energy which type of tariff is also called as Doherty rate?

/ fagaa Suf # e ToR & R® &) Stedl Ye Wi w1 91T 82
 Block rate tariff / TP ¥ ¢RB
e Flat rate tariff / /i€ 3¢ NG
« Two part tariff / g UId ¢Rw
e Three part tariff / M urd Rw
Correct Answer :-Three part tariff / 3t uré eR®

18)
Question Stimulus :-
Electrical

How many coils are there in a wattmeter? / <t aredier # fvaq wiged ga

g2

[ J
= 5H» W N

[ ]
Correct Answer :-2

19)
Question Stimulus :-

Electrical



Which part of DC machines converts the alternating current induced in
armature conductors into unidirectional current in the external load

Commutator / W?\'
Pole coils / UId A
Armature core / 3THIR B

Armature windings / 3TH=R aEf&™

Correct Answer :-Commutator / ao‘rq\%a

20)
Question Stimulus :-
Electrical

Which part of the transformer is constructed by the L, I and E type of
laminated steel? / meﬁ-wmﬁﬁﬁ%s@a% L, I 3R E Y&R I g1

gl 82

Coils / BIa

Inslutating materials / S&gfeTT HeRaew
Magnetic core / AIfed &R

Tank and cooling system / CL 3 Gﬁ?@%l'ﬂ Rren

Correct Answer :-Magnetic core / AAfes HR

21)
Question Stimulus :-
Electrical

In 3 phase system with what degree there is a phase displacement
between different phases / 3 Ho RIeH H, 3T-3@T Wl H g1 arar ol
faimo= fast f&3h &1 giar 82

e 360°



e 220°

e 180°

e 120°
Correct Answer :-120°
22)
Question Stimulus :-

Electrical

How the line current is expressed in secondary side of a delta star type of
connection? / 3 ¥R ¢3U HARM & bl I5S U, A5 Hec &l fbg @R |
fftrarea far wirar 82

e a IL/“".E

[ ] v E

aI|_
e al,

I /a

Correct Answer :-a I._/“lj

23)
Question Stimulus :-
Electrical

Which type of connection is used for both large voltage and low voltage

rating transformers? / 3& diees 3R FH dice gl dig I AT ard S ABTHT
& forw frg dvE & HA9RH BT ST gidT 82

« Delta-Delta connection / StcT-S¢cl PARIA
« Delta-Wye connection / StI-a1d HaRH
e Wye-Wye connection / q1g-91g SR

e Wye-Delta connection / qrg-geel SR



Correct Answer :-Delta-Delta connection / ST-SeC] FARME

24)
Question Stimulus :-
Electrical

Fly wheel is mounted on the motor shaft in motor. / Hiex §

HeR WU R TTS gid @1 Ade fHar srdare|
Compound / $HIS

Simple / Rrga

Variable / aRqaa

Complex / HIFATH

Correct Answer :-Compound / IS

25)
Question Stimulus :-

Electrical

Which type of transmission line has length up to 80 km? / f&q @vg &1

IR @18 § |98 80 km @ Bl 82

e Short transmission line / Qﬁém&lﬁﬁﬁm

e Medium transmission line / Hif$a® iafi=M g

e Long transmission line /FI'\I'“TQ'R‘:I'&I'!IF-[FIET-I

e Flexible transmission line / FifeIad eiafARE agq
Correct Answer :-Short transmission line / 2Ii¢ ;rm&l*-zr—r orgd

26)
Question Stimulus :-

Electrical



Which of the following is the SI symbol given by SI system for
thermodynamic temperature? / SI Ul gRT far Tar yHfsaAfie SRR &

fore s1 fag Fufafaa & 3 919 82
e m
e K
L
e A
Correct Answer :-K
27)
Question Stimulus :-

Electrical

What is the resolution of 4-digit digital measuring instrument? / 4 fefore
f&frea wru Sumwur &1 ReiiegR™ fvaar giar 82

e 0.002%
e 0.005%
e 0.1%
e 0.01%
Correct Answer :-0.01%

28)
Question Stimulus :-
Electrical

What will be the value of impedance of circuit pf a resisto_r of 13Q in sgries
with an inductive reactance of 14Q? / 14Q | Eﬁ'q' ﬁ'@%ﬂ arelt ifvs ﬁ,
Bt 130 & Yorer &t Afbe & sHliST &1 71 =1 8

e 19Q

e 22Q



e 21Q
e 20Q

Correct Answer :-19Q

29)
Question Stimulus :-
Electrical

Which method is used as an advanced iterative method for generating
approprlate solution steps to a real solution of a given nonlinear equation?

fau MY AfefaR atevor & Rad JicRE d Sfud JiegRq W 991 & fog,
mﬁwwgﬁmmgﬁﬁaﬁw%wﬁﬁmm%?

Newton Raphson method / ?E_-Im:l AYS

Gauss-Seidal method / T Hisd AYS

Fast Decoupled load flow method / BIRC fepucs s vl AYs

Bus admittance matrix / 99 Tsfie—q Afe

Correct Answer :-Newton Raphson method / <cH GO AYS

30)
Question Stimulus :-
Electrical

method are characterized by the fact that the quantity to be
measured is obtained from physical quantities of different kinds. /

YT 3 9 GRT GXUT gial 8 & ATt ST+ areil AT ST e UHR
ot Wifae aEen @ ura gidl 81

« Analog presentation / TATANT UsicTH

e Compensation instrument / mﬁlﬁsﬁaﬁ?
e Indirect measurement / mﬁ%ﬁﬁlﬁ?

« Digital presenatation / f$foiea Usiez™




Correct Answer :-Indirect measurement / EI'CI?EE ASRHAC

31)
Question Stimulus :-
Electrical

Which of the following method used for measuring high resistance?

(Given: above 100kQ) / 3= IR &1 AYA & forg, Fuferfaa & A feg fafy =1
STIHTS BIdT 82 (Ue<: 100k ¥ 31t )

« Megger Method / ATR fafy

e Ohmeter Method / 3fi¥ier fafyr

« Potentiometer Method / TIeRraHIex fafer

e Wheat stone bridge Method / fapl'c.’ w i foer fafa
Correct Answer :-Megger Method / AW fafyr

32)
Question Stimulus :-
Electrical

Which components of the symmetrical system have three phasors with
equal magnitude but are displaced from each other by 120 degree having
reverse phase sequence as compared to that of original? / ﬁl‘l%@ﬁ

& f5d gol ¥ 9u Tifiegs ard o gid & dfd 7 Rawd o diéa g9 & SR
Idfa® & goaa 120 fift W te R | fawuifug gl 82

« Positive sequence components / Ulsiifed i~ HE-cH
« Negative sequence components / fiifea e srHcT
 Zero sequence components / SRl Al FEHeH
 Unity sequence components / qﬁiﬁ e HﬂIﬁﬁW

Correct Answer :-Negative sequence components / fifes e Wﬁ?\‘r

33)



Question Stimulus :-
Electrical

Which law states that the direction of the induced emf is such as to tend to

oppose the change in the inducing flux? / &9 I1 fAuH $gar g f& IR seaue
! fezm Al Bt R S s=ufRivT Wi § uRada & fae gt et @72

e Lenzs Law / &~ @l
e Coulombs Law / ®idsq @l
 Steinmetz Hysteresis Law / W AcH @R @f
 Stefan Boltzmann Law / A Sieorad &t
Correct Answer :-Lenzs Law / @~ @l
34)
Question Stimulus :-

Electrical

In which type of wiring vulcanized indian rubber (VIR) and polyvinyl
chloride (PVC) insulated wires are used as conductors / f&g a3 &t arafe

#, qebIges 3T TR 3R Uefarae RS §RT SAgdes dR ST 9Ia® & =4 |
STHTA fopar SIraT 8

e CTS wiring / Hidteg arafe
« Cleat wiring / Tdic arafiar
« Lead sheathed wiring / @S s arafi
e Conduit wiring / W?ﬂﬁﬁﬂ
Correct Answer :-Cleat wiring / Foile araiaT

35)
Question Stimulus :-
Electrical

Which type of lamp holder from the following is fitted directly on the



wooc%Ien board? / fFufafaa # A f5g dvE &1 AW gie? Y THS! & 9IS W T
STaT 22

e Pendant Holder / U=¢ gleaY

« Angle Holder / TTd gies?
« Bracket Holder / 8&¢ gits?
. Batten Holder / 3¢ gitex
Correct Answer :-Batten Holder / 92 gIcs?

36)
Question Stimulus :-
Electrical

What is the approximate value of resistance of filament of a 150 W at 350

V bulb? / 350 VTR 150 W & U® dcd & flhardie &1 AT Iforeed foaar ghm?
e 810 Q
« 855 Q
« 816 Q
¢« 796 Q
Correct Answer :-816 Q

37)
Question Stimulus :-

Electrical

What is the average value of current for a pure sine wave? / it R[& AT
T & forg ®e &1 N9 U =1 giaT 82

e 0.637Iax
e 0.7371ax

e 0.837I,,ax



Correct Answer :-0.6371,,,5x
38)
Question Stimulus :-

Electrical

What is the MKS rationalized unit of magnetic oIe strength quantity? /
Hifew Nia WY Harfed! T MKS IYTASS gf+e Ha1 82

e Volt/Metre / Eﬁ?c.’/l:ﬁa?
« Henry/Metre / g31/HIcR
* Joule/Coulomb / S[d/®laq
e Weber / d¢R
Correct Answer :-Weber / &R

39)
Question Stimulus :-
Electrical

In which type of zero sequence model, the path is completed through

neutral points to the ground: / &9 U&R & SIRI Aty Arsd H, Wﬂﬂ@ﬁmﬁ?}l
A gp? o d UTY T g1 82

e A~ Aconnection / %- HHGRMH

« Grounded Y to 2 or 2 to grounded Y / UISSS Y ¥ 2 3(yar 2 A
UESS Y

« Ungrounded Y to 2 or 2 to ungrounded Y / 3SIUNESS Y A 23(Yar
A g JfeTdss Y

e Grounded Y to grounded Y / UI$SSS Y A AESS Y



Correct Answer :-Grounded Y to grounded Y / UI$S8 Y § UI¥SS Y

40)
Question Stimulus :-
Electrical

What is the temperature coefficient in percentage per °C of nichrome

material? / Hefue &1 ufd °C ¢F=R SefiRnie ufawa A feaar gar 82
e 0.04
e 0.36
e 0.4
e 0.03
Correct Answer :-0.04

41)
Question Stimulus :-
Electrical

What is/are the different factors for the selection of electric drives? /

SAfR® gIged & gA1d ¥ Al oRe 71 g /8 &
* Transient operation requirements / @ﬁlﬂf TR fYeravdey

« Reliability / Ramrafaferdt

« Steady state operation requirements / 3! W< ATUIE

e All of the above / SWRiad g
Correct Answer :-All of the above / SWRIad g
42)

Question Stimulus :-

Electrical



In underground cables w_hich components have h.igh insulating properties
but absorbs moisture: / 3SIUES Hacd H, f5T g A 3if¥re g=gafe o giar
Afp a8 Tt ) IRa @ 8

Polyvinyl cholride / UTdfdASd FRISS

Conductor / Fsde

Vulcanized rubber / dehAIgsS Y

Cross linked polyethylene / %19 feigs uraifdd=
Correct Answer :-Vulcanized rubber / deh-lgss YA

43)
Question Stimulus :-
Electrical

What is the relative permittivity of slate dielectric? / e mé—gﬁ% 3|
frafes AR featt adt g2

e 6-7.5

4.1-6.5

2-2.5

5.5-6.5

Correct Answer :-6-7.5

44)
Question Stimulus :-
Electrical

In a two port network how hybrid parameter is expressed: / fodt Gt ¢ ara
Acad #H, grsfas Wi H $4 e fHar e 82

e Vy, In

* Yy, Iy



e Iy, I3

e Vi, V2
Correct Answer :-V4, I,
45)
Question Stimulus :-

Electrical

What is the appropriate dielectric strength in (volts/mm) of gutta-percha?

/ TET-URAT o1 3fud S8-3afde® WA (volts/mm) ¥ e giar g2
« 10,000-25,000
e 10,000-20,000
« 10,000-40,000
e 10,000-35,000
Correct Answer :-10,000-20,000

46)
Question Stimulus :-
Electrical

What is the voltage rating of extra high tension underground cable?

/ TGS Haa P TRST 8T8 S BT el AT T gl 272
e 33 KV to 66 KV
e 22 KV to 33 KV
e 11 KV
e 132 KV
Correct Answer :-33 KV to 66 KV

47)

Question Stimulus :-



Electrical

The efficiency of electrical machines should be calculated by measuring: /

frad AU gRT Safdeda A=Al &1 THITHT 3 7T S A T1fee:

output and input / 313eYe 3R 3Yc
losses and output / AW 3R 3M3eYe

losses and input / Ao Gﬁ?%‘-g'c’
losses / KIR G|

Correct Answer :-losses / KIS

48)
Question Stimulus :-
Electrical

Which method is especially suitable for the measurement of small

%nductances'-’ / WA gsac s &l HIYA & T $IH-I1 AYsS @Y dR ¥ e d gidl
?

e Kuriyama method / Sfamr ays
 Butterworths method / ¥e3azd AYS
« Felicis method / BfiaRm AYs
e Campbells method / PHAd AYS
Correct Answer :-Butterworths method / gcvadd AYS

49)
Question Stimulus :-
Electrical

What is the value of current at t = 5T instant in an.RC netV\_IOI_'k fed wi.th
voltage V where T is time constant? / AR Acab At = 5T s'é?&r W HIC Bl
HHE 1 g1 & orH v it f3ur o ik T si=dde ergH Bl

e 0.9933V/R



e 0.865 V/R

e 0.632V/R

e 0. 579 V/R
Correct Answer :-0.9933 V/R
50)
Question Stimulus :-

Electrical

Given condition justifies which network theorems: The load impedance
should be complex conjugate of the internal impedance of the active
network. / <t T =d g ARA BT GUYT Rl § : Alhd Aead Bl idai®
wfaaTe &1 |feyy g s ufaarer gr amfgul

 Reciprocity theorem / TR R

« Maximum power transfer theorem / AfRIAH UIaR TiRIWR WRA
e Milliams theorem / fiferawy @R\

e Compensation theorem / HHAYE WRHA

Correct Answer :-Maximum power transfer theorem / RfRIHH UG iAW
WRH

51)
Question Stimulus :-

Electrical



Match the following:-
1. Loadcurve a. Ewerlasting

b. Variation of lead on the power station

2. Tidal power generation . = ]
with reference to time

3. Non-conventional methods of power | €. Photo voltaic effect
generation
4. Solar cell d. Fuel cells generation

1. s mg a. [or =T

b, TFT H2H F HY U FoyE W
& ?EE:“- B 2P ~."=:|1Q!?|'

3. WY S R I e . HIel dicelsth Shae
BusE
4, Heoww He d LI-=;[_:~1W:I:|QQEI

e 1-b,2-a,3-d,4-c
e 1-a,2-b,3-c,4-d
e 1-c,2-d,3-b,4-a
e 1-a,2-d,3-c,4-b
Correct Answer :-1-b,2-a,3-d,4-c

52)
Question Stimulus :-
Electrical

Which network topology term got reference diregtions and marked on the
edges of the graph by arrow heads? / 3ed® cIUIdol & {6 WUsg w1 fa=zm &1
e ured garm 8 3R 39 frRl R diR & A= A fifta fovar man 82

e Sub graph / 949 UIp

e Node / G i)

e Vertex / ac

e Oriented graph / NS ITw



Correct Answer :-Oriented graph / 3Nfa<s %

53)

Question Stimulus :-

Electrical

In which constant voltage system following operations are performed:
1.Measure the system current

2.Compare it with a reference current

3.Computes and amplifies the error signal / frg Pivde dieew RIeH ff,
frafafEd i 814 §:
Ry oie &1 91U+
et YB3 P A ITDT g
TR fra & Frge iR THEATwIs SRl

Constant extinction angle ¢ control / ®I<< ¢ TaafdaRI_ T ?

Constant voltage control /P ¢ diees Held

3 . = . gL
Constant lignition angle " control / ®i<<c forfieq Tra © Hera
Constant current control / BILC BiC Hold

Correct Answer :-Constant current control / HIec B Hald

54)
Question Stimulus :-
Electrical

In which type of instrument the moving coil consists of a single loop of
fine bronze or platinum silver wire? / f&d g & IUHIU H, YA Hiad | g
Hiaa &1 ta RivTa qu sryar wifeqw fyear ar wfira g 82

« Schering and Schmidt galvanometer / fRIR%7 3R Ry Addier
« dArsonval galvanometer / SaTd edeR



e Campbell galvanometer / FHad Ted-Hle
e Duddell moving coil galvanometer / @\@ﬁ 'Fjﬁ'lT Hiad ed-Hie?

Correct Answer :-Duddell moving coil galvanometer / @3?[ Hﬁ'ﬂ Had
TeaqHer

55)
Question Stimulus :-
Electrical

Which network analysis states that the algebraic sum of voltage on a
closed loop is zero? / HIH-Tl Acdd TAIRIYT IdTdT § % Th TS qu R fRua
dieeo BT feaifsied TN X gl 82

e Cramers method / »ad AYs
Nodal method of analysis / TR &1 AiIsd HYS

Loop current method of analysis / TAIIRINT &1 U H¢ AYS

Current sources in loop current method of analysis / TATIYT
®T U Hic § P I AYS

Correct Answer :-Loop current method of analysis / TR HT U HIc HYS

56)
Question Stimulus :-

Electrical

What is the radius of an electron? / mﬁsﬁaﬁhaﬁﬁw WFﬁﬁ?ﬁ %?
¢ 2.81x10°15 metre
e 9.0x10731 kg
¢ 1.602%x10719 coulomb

e 1.77%x1011 coulomb/kg

Correct Answer :-2.81x10715 metre



57)
Question Stimulus :-
Electrical

What is the current carrying capacity (amp) of 0.0001 ohms resistor with
500 watts power dissipation? / 500 gic Urar fS$fRu=e & $1RUl, 0.0001 W &
VRS B BIc BRI Hufydt (amp) fa-! grft?

e 2236
e 1000
e 700
e 150
Correct Answer :-2236

58)
Question Stimulus :-
Electrical

Which type of potentiometer consists of two separate potentiometer
circuits enclosed in a common case? / foa T-I?‘e’% ﬁ 3’[ ST ST
NIRRT Tfhe g1 & oY TP ST $9 A I T8d 22

« Gall Tinsley AC potentiometer / TTd fe= T} WeRmEHeR
* Drysdale Tinsley AC potentiometer / S5%ed fe=t Tt
TR

« Campbell Larsen potentiometer / HFad a9 T RAHER
« Crompton potentiometer / HIHIeT UICRAATHICR
Correct Answer :-Gall Tinsley AC potentiometer / e fe=et E‘\‘ﬁ Ui RmaeR

59)
Question Stimulus :-

Electrical



In RLC series circuit under variable frequency what is |n|t|aIIy negative

and becomes zero and then positive? / RLC Hifts gfdhe A WW%
mgﬁﬁwﬁﬁﬁaﬁm%eﬁ?mmﬁwﬁm%ammmmﬁaa
Olldl §?

« Net reactance / A¢ Ruac
« Capacitve reactance / »ufifed Ruae=a

 Inductive reactance / $sfdea Ruae—
« Impedance / SHISH

Correct Answer :-Net reactance / C ﬁ'EH%TH

60)
Question Stimulus :-
Electrical

Which is the process used to convert alternating current (AC) to direct
current (DC)? / 3TEIACI BIC (AC) Tl SHGE Pie (DC) H FUdRd H3H & g
fora ufsrar &1 swawTa f5aT STar 82

« Rectification / YR \hHIH
o Amplification / Qwﬂﬁﬁ-'{ﬁ

e Control / &erd
e Generation / SFRYH

Correct Answer :-Rectification / Y& b=

61)
Question Stimulus :-
Electrical

What is defined as the ratio of energ%{radlated as light to the total energ
radiated? / U&= 31 avg fafeia et %ﬁm%wﬁﬁ
uRyTita faar sirar 82



Depreciation factor / SURRANYT oz
Luminous efficiency / T TR
Maintenance factor / HdA=0 bae?

Coefficient of utilisation / TG RRE 3ITF JEAGAR
Correct Answer :-Luminous efficiency / &9 TibREAG

62)

Question Stimulus :-
Electrical

A synchronous motor operates as a synchronous condenser, when it
is / T Riswia R & ®u # &9 HId1 8 99 98

operated at unity power factor / gf-idl UraR %aex UR 3iTuve gidr &

under-excited / 3EI-TFATSCS BIdl &
over-excited / 3d3-UGHISCS BldT &

connected in parallel with condensers / PR & Y JHMIAR

Fac BT @
Correct Answer :-over-excited / 3da3-UaHISeS BT &

63)

Question Stimulus :-

Electrical

Given volt-amp relationship ¥=Li getermines which parameter of circuit

elemgnts/%mwaﬁw-wﬂﬁa‘u V=L gffe geide & g IkRrdier &) FAuifva
PdT 82

« Resistance / IREH
e Conductance / PSR Y
« Capacitance / $URRH



e Inductance / §8&cd

Correct Answer :-Inductance / 333%‘&

64)
Question Stimulus :-

Electrical

Which type of lamp efficiency is 10 lumen/watt? / frg avg ¥ du Tih Rt
10 TgH-/dTe gt 32

e Mercury vapor lamp / AP duR AU

« Sodium Vapor lamp / 9if$gq qur du

e Arc lamps / 3T qAY

 Tungsten filament lamp / &% fhamc du
Correct Answer :-Tungsten filament lamp / e fihamdc dv

65)
Question Stimulus :-
Electrical

In which type of lightning systems 90-100% of the light is directed .
downwards and 0-10% of the light upwards: / &9 a8 & @gef~T Req &
90-100 YfI=d 9% YHT &1 41 $ 3R Ui¥a forar sirar 8 3 0-10 yfawa yerr &t
SHUR P 3R U fbar wivar 82

e Semi direct / IH! ST

o Diffusing / fSwRIfSiT

« Direct Lighting / STORaE @TSfeT

« Indirect Lighting / STSTINGT @IS

Correct Answer :-Direct Lighting / ST argfe

66)



Question Stimulus :-
Electrical
Find the load of current if load resistance is 25 Q

Given: DC source generating 550V, internal resistance of 1500Q / af¢ s
IR 25 Q § A HIC BT AL JTd B

Wed: DC I S-RfET 550V, 1500Q HT Se34d Iored
e 0.627A
¢ 0.527A
e 0.427A
e 0.360A

Correct Answer :-0.360A

67)
Question Stimulus :-
Electrical

In which process the transfer of the heat is from one point to another due
to the actual motion of the molecules of a fluid: / {53 Ufhar & dgd, fedt a=va

%ﬁﬁﬁﬁ%ﬁﬁﬁm%wmmwﬁgﬁmmw
e Convection / ddgd
e Conduction / dTdd
e Radiation / fafesur
e Specific heat / Sl?lilﬁlﬂim'q/mﬁ
Correct Answer :-Convection / Idgd

68)
Question Stimulus :-

Electrical



Which is the type of emission that heats the metal to a sufficient
temperature to enable the free electrons to leave the metal surface:

/ TR &1 98 SI9-91 YPR ¢ Sl fHAt Acd &l yaied arad= a9 T Sl g dife
UG G §IPR Hed WBY Pl BIS Tob:

e Field emmission / Wits THITHE

 Photo electric emmission / Wiel Safded THIRM
e Thermionic emmission / 4fifaifa® vaiE

« Secondary emmission / & gl TR

Correct Answer :-Thermionic emmission / yffafae Q’Hﬂ"ﬂ:r

69)
Question Stimulus :-
Electrical

In which type of water heater the heat rays from an element brought up to
red heat by the passage of electric current travel through air rapidly and
raise the temperature of solid substance in the surroundings which falls in

its range. / fFT dg & arex gic} H, fHdl Telide A Aepaq arel ST fH=un &t gar
& HIHH | ToRA IR SAfaed BIc G0 GRT a1d ST 947 f3ar SIrem @ 9k S9d 3mau™
T84 aTal 319 Ul &1 dTaHE g7 faar St g1

e Three heat switch / 3 gic f<a4

e Electric iron / Sdfa¢® 3MRRA

e Electric oven heating / gﬁ'ﬁﬂ? Gﬁaﬁﬁﬁ'ﬂ

e Electric radiator / Safde® ST
Correct Answer :-Electric radiator / Eﬁﬁﬁ? AT

70)
Question Stimulus :-
Electrical

What is operating temperature of thoriated tungsten emitter? / Qﬁﬁ'@‘e{
e THieR &7 SHTuRfET aruw a1 gian 82



1700°C

2327°C

750°C

3227°C

Correct Answer :-1700°C
71)

Question Stimulus :-

Electrical

Which is the negative grid voltage for a given plate potential at which
ionization of the gas starts? / f&dt fou ¢ wie uid &1 fArifeq firs e @
BT @ o ® 1 et g giar 82

e Grid baffles / 15 9w
« Control grid / cia frs

e Thyratron /QIT!ﬁg_—I

« Critical grid voltage / fhfewa firs aiew
Correct Answer :-Critical grid voltage / fhfewa fIs aiew
72)
Question Stimulus :-

Electrical

Find the illumination on the normal surface if the candle power of a lamp
is 150 and a place surface is placed at a distance of 1.5 meters from this

lamp. / AU 9@ TR SR F19 B¢ afc fhedl a0 &1 Fsd Uraw 150 &1 3R 39
A9 freft R & aa &1 1.5 Hiex @1 g8 W @1 9™|

e 66.6 lux

e 66.7 lux

e 66.8 lux



e 66.9 lux
Correct Answer :-66.6 lux
73)
Question Stimulus :-
Electrical

In the energy level dlagram, what is the s .garatlon between conduction
band and valence band? / TSI HSRM 98 3R a9 95 & di9
T 3[EITG T gl 82

 Forbidden energy gap / BRIdS TSI 19

« Conduction band / $SRH §§

« Valance band / 369 d8
e Energy band / TFITrffag

Correct Answer :-Forbidden energy gap / BRIgSH Ev‘ﬁﬁ'ﬁ'ﬂ

74)
Question Stimulus :-
Electrical

What is thermal conductivity of silver material? / Ricay aefRaa &t yva
Psfaefad! fea gidt 82

e 429 W/mK
e 385 k W/mK
e 225 k W/mK
e 1.20 k W/mK
Correct Answer :-429 W/ mK

75)

Question Stimulus :-



Electrical

gigh starting torque can be obtained in / 399 A fHUH 81§ wWIféT i e Tpar

slip ring Induction motor / &Y f&1 ssa=H Hiex

squirrel cage Induction motor / f&Fd &e sTSaRM Hiex
salient pole Alternator / Gfdde TId 3feeeex
non Salient pole Alternator / AT9-afde TId 3reezeR

Correct Answer :-squirrel cage Induction motor / v oo TR Hiex

76)
Question Stimulus :-
Electrical

What is the resistivity of copper substance? / FIR yerd ot ¥erfefad feant

gl 82

1.7%x108 Om / 1.7x10°8 Om

0.6 &m / 0.6 2m

9x1011 Om / 9x1011 Om

104 Qm / 1074 Om
Correct Answer :-1.7x108Om / 1.7x10°8 Om

77)
Question Stimulus :-
Electrical

The process of adding impurities to a semiconductor is known as

/ fodl 9t deaer ¥ SRES & deq ot ufehar &l ¥ U § S oI 2
 Donar impurities / SIFR SHRES
« Doping / SIftRT



« Hole / 8@
« Control element / Held TdHe

Correct Answer :-Doping / SIfUTT

78)
Question Stimulus :-
Electrical

A dynamometer wattmeter is rated at 10A and 100V with a full scale
reading of 1000 W. The inductance of the voltage circuit is 5mH and its
resistance 3000 ohm. Voltage across the current coil is negligible. At 50 Hz
and zero power factors, the error in the wattmeter at the VA reading will
be: / 1000 W & Fd whd JfST & 1Y fHedt sra-wier aietiier &1 10A 3 100V
R ¥e a1 oraT 81 diees Afibe &1 s7saed 5mH § 3R 39®T ¥foreed 3000 30w g1

T H1ad H diees UG 81 50 Hz 3R SR TR thaex W aietles d 811 arar giv

gRM
R1 R2 R3

1 > ﬁxm m rm m it ]
% V L

e 0.325' W

e 0.523 VA

e 0.575 VA

e 0.604 W

Correct Answer :-0.523 VA
79)
Question Stimulus :-

Electrical

What is the rectification efficiency if an applied input ac power to a half



wave rectifier is 150 watts?

Given dc output power = 50 watts / tri%ﬁmaawﬂwwgﬁnmﬁm
TR §79¢ QI UTaR 150 dIe gl <f Y b= Trh et «m ghft?

He< S 3f¥eye UTaR = 50 a1
e 30% / 30%
e 31% / 31%
e 32% /32%
e 33% / 33%
Correct Answer :-33% / 33%
80)
Question Stimulus :-

Electrical

Find the luminous output of lamp if the wattage of the filament lamp 550
W and the efficiency of lamp is 2 candle power per W. / If¢ f&d feamic du
%1 dicst 550 W &1 3R o 3 TibfRigedt ufd w 2 $sa urax 0.5 W g1 &1 30 o 31

T ST3eYE Jd F
* 4100 °
» 4200
e 4300
* 4400 *©
Correct Answer :-4400 *©
81)
Question Stimulus :-

Electrical

The ratio of rms value of ac component to the dc component in the o an
rectifier output is known as / YRIGRR 3l3cYc ﬁ,_ T e
aﬁ?ﬁ\:ﬂm%ﬁa%méﬂ%eﬁﬂaﬁ & U H ST STl 3




e Filter circuit / fleeex Afdbe
 Breakfast voltage / SHHRE diecsl
« Ripple factor /Rud oz
* Bridge rectifier / EEECHLIUT
Correct Answer :-Ripple factor /e hae?
82)
Question Stimulus :-

Electrical

Calculate the resistance of wire / TR & IoRET Bt TUMAET HI |
Given data: / Length = 150 m / Ued S¢T: / §al§= 150 m
Cross sectional area = 0.2 mm?2 / %19 9a¥d TRAT= 0.2 mm?2
Resistivity = 50x10°8 Q-m / Ivifefadi=50%x108 Q-m

375Q

376Q

377Q

378Q

Correct Answer :-375Q

83)
Question Stimulus :-
Electrical

Which electrodes used in arc furnaces are obtained by heating at very high
temperature? / 3% B § Ygad g4 aTd fb saideigd @ S@ftUd arad™ R T
HRP U b Smar 82

e Carbon electrodes / HTa- sAdeIgd



e Self baking electrodes / 4 dfd T gaagigd

e Graphite electrodes / ﬁm%ﬁﬂﬂﬁ

 Electo chemical electrodes / sﬁﬂﬁmsﬁﬂﬂﬁ
Correct Answer :-Graphite electrodes / ‘3I'CFI?¢T:' Eﬁﬁﬁ?ﬁ

84)
Question Stimulus :-
Electrical

A properly doped crystal diode which has a sharp breakdown voltage is

known as / 3% A iy fru 7 f&:dt fbeea srals # ot 3] swse
dieesl gid1 8 a8 & U & JET ST 2l

Zener diode / SR TS
Zener voltage / SR dieeo
Zener current / SR PC
Zener burn out / SR § 313¢

Correct Answer :-Zener diode / 3R SIS

85)
Question Stimulus :-
Electrical

Given unit AT/m defines which term of magnetic circuit / 'c?r It qﬁf Mifes
Ofhe &) fra Trad & uRyig sl 82

« Magnetic flux density (B) / #ife® wag sRud (&)
e Mangnetic field strength (H) / Aifew tlﬂ?s"\‘ﬁ'-‘%[ (T)
e Magentic flux (®) / Mifes wam (D)

« Magneto motive force (MMF) / #cl Hifed B (THTHATD)



Correct Answer :-Mangnetic field strength (H) / Mifes wics @ (T)

86)
Question Stimulus :-
Electrical

A is a reverse biased silicon or germanium pn junction in
WhICh reverse current increase when the junction is exposed to light.

v RNad arave Rifere e sryar SHfAUH pn SiewE giar 8 foraw Rad
ﬁ?wm%wwﬁmﬁwm%

e Tunnel diode / &d SIS

e Varactor diode / RNFR SATS
 Shockley diode / Si®d SIS
 Photo diode /WIc! SIS

Correct Answer :-Photo diode /WIdl SIS

87)
Question Stimulus :-
Electrical

Find the magnetic field strength if a coil of 180 turns is wound uniformly
over a wooden ring having a mean circumference of 0.5 m and with

current of 4A through the coil / ﬁ'ﬁ%tﬁﬁ'@ﬂmﬁﬂﬁﬁ 180 @+ 4arad
DA Pl TP dhsl & T IR A U A 0T 14T g1 FSoraeT #i9 IRHBHFA 0.5 m &l
3R BT A THT 4A BT HI¢ Uared af ¥eT &l

e 1410 AT/m
e 1420 AT/m
e 1430 AT/m
e 1440 AT/m

Correct Answer :-1440 AT/m

88)



Question Stimulus :-
Electrical

Name the circuit element maintaining a prescribed voltage across the .
terminals in spite of the current flowing in those terminals / 39 gfbe Qﬁﬁ?:’

%ﬂmlﬁmﬁﬁmﬁﬁ%wﬁmﬁﬁmmﬁ
e Ideal current source / arrssaaﬁ?%ﬂﬁ
* Independent source / E%ﬁ%‘d@ﬁ
 Ideal voltage source / 3IgSd diees I
* Dependent source / feusc Ot
Correct Answer :-Ideal voltage source / 3138 dieesl I

89)
Question Stimulus :-

Electrical

circuit is used to make precise measurement of a
resistors value using resistors, voltage source and a galvanometer /

Iored, Aiees O 3R Aa-ifier &1 swnTa e [Pl Ivred Iy & I v &

« Wheatstone bridge / @lewiq fae
« Wien bridge / a3 fora
e Carey Foster bridge / P B fos
« Kelvin bridge / &fea= fow
Correct Answer :-Wheatstone bridge / e faw

90)
Question Stimulus :-

Electrical



Which types of methods only work with planer circuits? / PO UPR & ﬁﬂ%‘ﬂ
Fad WIHR dfhe & IIY HTH HId 82

* Source transformation / I SABIHRA
e Superposition method / GWRUISIRM AYS
e Node voltage method / IS diees HYS
e Mesh current method / A% ¢ AYS
Correct Answer :-Mesh current method / AT HIC AYS

91)
Question Stimulus :-
Electrical

A conductor has a constant current of 6A, hovy many.electronvs ass a fixed
point on the conductor in two minute. / fodt eaeT H 6A BT BT 3’[, a
4l fiFe 9 39 o’ W & fAif¥a fig wR fva gaegi= Tord 82

e 4.49%x1021 electrons/min / 4.49x102! sase-g/fe
¢ 5.49%x1021 electrons/min / 5.49x102! gaeei=a/ e
¢ 6.49%x1021 electrons/min / 6.49x102! gaeei=a/fiAe
¢ 7.49%x1021 electrons/min / 7.49x102! gaaei=a/ e

Correct Answer :-4.49x1021 electrons/min / 4.49x102! sa&ei4/ffFe

92)
Question Stimulus :-
Electrical

Match the following:-

. a. Improve the steady state behavior of
1.Sink
a system
2:Lag b. Output node in the signal flow graph

lcompensator




c. Ratio of actual damping to critical

3.Cut-off rate damping

4.Damping d. The slope of the log-magnitude curve
Ratio near the cut-off

fFrafafaa o1 9a s:-

1.Riw a. fpdl Reeq & WSt We Ao BT g

2.0 YR |b. Riye wall U T 13CYC AT
3.%c-3h T |c. TSI ST IR fohfehd ST b I
4. STEATIRAT  [d. Pe-3iTp $ U9 AT Miiegs Bd &1 WY

e 1-b,2-a,3-d,4-c

e 1-3,2-b,3-c,4-d

e 1-c,2-d,3-b,4-a

e 1-a3,2-d,3-c,4-b
Correct Answer :-1-b,2-a,3-d,4-c
93)
Question Stimulus :-

Electrical

Which type of transformer is used to conduct assessment at high and

ultra-high voltages? / 3= 3R 3(eeT 3= dieedl W MHAT B & o€ fbd g &
TIAWIHR T SEAATS foaT ST 82

« Power transformer / UTaR TIAWBIH

« Testing transformer / & TABIHR
« Radio transformer / ¥4l TAGHT

e Auto transformer / 3icl SIABIHR

Correct Answer :-Testing transformer / & TiABIHR

94)



Question Stimulus :-
Electrical

In which type of windings extra insulation between layer is required in

addition to insulation of conductors: / f&d dvg @t argfew H, W%?ﬁﬁﬁ?ﬁ
& 3fTaT WRdl & §g fafved SgaR B Ixd giet &

« Cross over windings / P19 ¥ aEf&™

« Continous disc windings / ®ie-g3ry &% arsfé™
« Sandwich windings / 9sfd9 aEfE™

e Helical windings / sfdoda agfé™
Correct Answer :-Helical windings / gfded asf&w

95)
Question Stimulus :-
Electrical

In which type of oil immersed transformer, the 0|I is pumped through
windings to extract heat from oil: / f&3 g & 3ATgd ETI'\‘%; m‘qo‘lﬁ'\’ H 3ffad |
Tl 3 AR & e aEfén @ gier da & v fHar s 8:

« Oil immersed water cooled transformer / 3Tad SH¥S dlex P
e Oil immersed forced air cooled transformer / 3rad 3-:'-\,%; BS

TIR $TS SHBIHY

e Oil immersed forced oil cooled transformer / GHTIFI%TR%; BRS

3ATTA oS TTABTHY

« Oil immersed self cooled transformer / 3{Ad $H¥S AP P

Correct Answer :-0Oil immersed forced oil cooled transformer / 3ad E'H'Rs;

BITS 3Td oS B

96)



Question Stimulus :-

Electrical

In a welding transformer, which type of reactor has greater reactance, it is
obtained due to greater core insertion and hence the output current is

less? / fordll AfRT TiTpTR &, 5w @v8 & Ruaer & oiftres INRREH g1 2, 98 it
PR THUT $ BRI YT T & 3N AT 3M3eye Hie & g 82

e Continuously variable reactor / ®ife-g3re ddaa Ruaez

e Saturable reactor / GRId AT

e Moving shunt reactor / gfd' 3= Raaex

« Moving coil reactor / gfdi ®raa AT
Correct Answer :-Continuously variable reactor / ®ife-g3rel aRNATa Ruaer

97)
Question Stimulus :-

Electrical

In which method of measurement of slip, the slip in percentage is given by

= 100n/ngn, / T & 999 & {59 Ay ¥, ufa=a ¥ AT = 100n/ngn, & U 4
fea e 3

« Synchronous watt / RipiH4 dic

e Electromechnical counter / Eﬁﬂaﬁ%ﬁﬁm
e Mechnical differential counter / Abfod SHIRTA Fdex

« Stroboscopic Method / TIER®IUS AYS
Correct Answer :-Stroboscopic Method / @@ﬁﬁﬁm AYS

98)
Question Stimulus :-

Electrical

Which type of torque in synchronous motor is also called as break away



torques? / RiH AR #, fFA TRE P cih & 99 3@ ¢l W $gT Wra1 82
e Starting torque / WIS el
« Running torque / I eid
e Pull torque / EI,FIE'\I%
e Pull-out torque / gﬁ-GI'IB‘c.’E'I%

Correct Answer :-Starting torque / I e
99)

Question Stimulus :-

Electrical

Find the stator winding voltage of a three phase star connected 5500 V
synchronous motor hawrzlg synchronous reactance per phase of 209Q. /

5500 V & Risp Alc? 4 g5 f el wR $T We arsfeT diees grd # forad ufa
el 20Q &1 Rispa Ruad¥ gl

e 3175.4V

e 5500V

e 9526 V

e 3180V
Correct Answer :-3175.4V

100)
Question Stimulus :-
Electrical

If the type of excitation of synchronous motors is critical excitation then

what will be the nature of power factors? / gfe Rispag M &1 EHR‘IE%TIH
fpfewa TaaTsemA B A UraR Haer Ft upfa wum grfl?

e Lagging / @
e Unity power factor / gfdl UTaR Hhaex



 Lagging power factor / QffiiT UTaR Haer
« Leading power factor / SIfS$I UmaR Hhaex

Correct Answer :-Unity power factor / gf-dl UTaR haer



